
of]hgf sfo{qmdsf] gfd
sfo{qmd
;~rfng
:yn

gu/kflnsf cg'bfg cfGtl/s of]hgf

s'n hDdf
      1 cf]v/ahf/ vfg]kfgL of]hgf yfxf–! 500,000.00 -         500,000.00

2 s'nfrf}/ k'/fgf] 5fk|f] r'gLag
df]6/af6

yfxf–@ 500,000.00 -
        500,000.00

      3 dxfb]j :yfg sf]nf rf}/
df]6/af6f] :t/f]GgtL

yfxf–# 500,000.00 -
        500,000.00

4
kmfF6ahf/ :Nofa 9nfg -cw'/f]_ yfxf–$ 500,000.00 -

        500,000.00
     5

n]s6f]n df]6/af6f] dd{t of]hgf yfxf–% 500,000.00 -
        500,000.00

6
ef]6 vf]l/of 7"nf] l;d–:ofpnL
vf]l/of ;8s lgdf{0f

yfxf–^ 500,000.00 -
        500,000.00

     7 8fF8fufpF vfg]kfgL dd{t tyf
6\ofª\sL lgdf{0f

yfxf–& 500,000.00 -
        500,000.00

cfly{s jif{ )&#÷)&$ df ;+rfng x'g] ;+zf]lwt j8fut ef}lts of]hgf tyf sfo{qmdx?

yfxf gu/kflnsf
OGb|fo0fL rf}/

     7 8fF8fufpF vfg]kfgL dd{t tyf
6\ofª\sL lgdf{0f

yfxf–& 500,000.00 -
        500,000.00

8 xl:k6n b]lv O{Gb|rf]s s[lif
;8s

yfxf–* 500,000.00 -
        500,000.00

     9 afn'jfrf}}/–;f]nf e+Hofª
vf]nf3f/L ;8s

yfxf–( 500,000.00 -
        500,000.00

10 bfdg lkª8f8f vf]nf3f/L b'O{3/]
;8s

yfxf–!) 500,000.00 -
        500,000.00

    11 uxt] vf]nfvs{ t;/ s[lif ;8s
yfxf–!! 500,000.00 -

        500,000.00
12 ;'gf}nf dflj jfn lgdf{0f emofn

9f]sf
yfxf–!@ 500,000.00 -

        500,000.00
6,000,000.00 -            6,000,000.00

    13 ;nsf] s'nf] 9nfg tyf dd{t   -
l;+rfO_

yfxf–!# 0 500,000.00
        500,000.00

14 gGbs]z/ e6\6]8fF8f uf|ld0f s[lif
;8s

yfxf–!$ 500,000.00
        500,000.00

    15 P]nfvvf]nf shj] / a+lz8f]n
;8s dd{t

yfxf–!% 500,000.00
        500,000.00

           6,000,000.00 1,500,000.00      7,500,000.00

hDdf

hDdf


